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asym_bcm_an_us RMS (ppm)
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diff_bpm4aX RMS (um)
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diff_bpm4eX RMS (um)
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diff_bpm4aY RMS (um)
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1D pull distribution
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diff_bpm4eY RMS (um)
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diff_bpm11X RMS (um)

[ _Qoﬁa_

_________
© <
To) o) To)

(wn) SNY

52—

£'6vSYy
2'6vSy
T'6vsSy
0'6vSY
£'8rSy
2'8vSYy
T'8rsy
0'8vSy
€'LvSy
LSy
T'LvSy
0'L¥SYy
c'9vsy
T'9vsy
0'9vSYy
141214
o154
¢'Svsy
T'SvSy
0'SvSY
Evrsy
[A2%¢°14
Tvvsy
[Wh2%°14
V'evsy
EeVvsSy
[A9%2°14
Tevsy
0'evsy
v'evsy
€ersy
2evsy
Tevsy
0'¢evsy
TSy
TSy
TTvSy
0'TrSYy
£0orsy
2ovsy
Tovsy
0'ovsy
'6ESY
€'6ESY
2'6ESY
T'6ESY
0'6ESY
¥'8ESY
€'8E5Y
¢'8ESY
1'8esY
0'8esYy



8 2 © © N 3 2 3
S S 3 i 53
s 3 3 % & <
+ + @ 2 N ~ -
;e =5 ¢ 3
3 = 8 -
s 2 i
> m 2 - €
] = 2 k=1 8 ©
cls & ¥ % ¥ oz 5 E
o s B 5 S %« 8 2 &
= =
5 —
e}
= -
= -
© . -
= —— .
o —
o
-
AR TN W N TN W SN NN SO SO S | PR R 7
o © © < o
—
— -
O N
/PO.
< - —
o +H Z
0 —
o —
- —
. ———i -
— ]
_ —
—_—— —
Y —
ko] e |
c -
~ —
NP =} —
<o .
—— -
3 E
c -
~ —
x —
™~ —
- —
m ——— —
Q. ——i— -
b_ —— —
— -
= ———
© .|.|“. ]
— ] -
—— -
— -
—_— -
—— -1
—— -
—_— -
——— —
—t -
—— -
— -
— -
———i —
— -
—— —
—_— -
—_— -
— —
_________________..T_lTI.O.ITTTT___________
o o o o o o o o
o n o [Ye) Yo} o n
« — — 1 1_. _ﬂ




diff_bpm12X RMS (um)
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